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This qu.-estfnn booklet 1S divided
-A and

into tiwo sections — Section
Section-B.

In Section-A, there are

70 objective type questions,
out of which any 35 questions
are to be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark.
Darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener /
liquid / blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which
any 10 questions are to
be answered. Apart from these,
there are 6 long answer
type questions, each carrying
§ marks, out of which any
3 questions are to be answered.

US? of any electronic appliances is
strictly prohibited.
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@uE - A1 / SECTION - A

T W9 / Objective Type Questions
gy W& 1 1@ 70W$mmiﬁqaﬁm&qw%} fard @
@ wet & | o grT g7 Ty W fawey # OMR iz v fafed &4 | AT

35gvAT & JAT AT E |

Question Nos. 1 to 70 have four optio

35 x 1 =35

ns, out of which only ore 1S

correct. You have to mark your selected options on the OMR sheet. Only

35 questions are to be answered.

1 fae g=RE R

35x1=35

(A) =EH (B) B

C) TAH : (D) u=d
Arabica is associated with

(A) Tea ~ (B) Coffee

(C) Sugarcane (D) Paddy

2. FUgeg uieEeE 8

y/ st d (B) frwd

() wEe | (D) ol |
Hirakud project is in

(A)  Odisha (B) Bihar |

(C) Jharkhand (D) Chhattisgarh
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3. 'ﬁ31qaiﬁﬁﬁﬂ8dﬁ1im1%

(A) el (B)  wfh

(C)  gftgoft (D) 399 & 13 JA

The direction of flow of Luni river is

(A) Eastern (B) Western

(C)  Southern (D) None of these

¢, Proafe ARl 4 & et sef 3 2 7

(A)  waE )B(“EF”
(C) @M (D) TieE#

Which of the following rivers is the most polluted ?

(A)  Satly;j (B) Yamuna

(C) Sone (D)  Godavari

5. UM dernuA % fohw U § il 2

(A) o (B)  TSRuH

(C) wEy (D) IF yy
In which state is Panipat oil refinery centre located ?
(A)  Haryana

(B)  Rajasthan

(C) Assam (D) Uttar Pradesh

___-_-—-‘—--"I—-—-_.__
|25A/12/108 1 - T
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Fraferfian w=i & A et w0 i 3 F= Hafea g 7

(A)  HERTy (B) 39 W&

(C) TSUa (D) HAEH

In which of the following states is Narora atomic power centre

located ?

(A) Maharashtra (B)  Uttar Pradesh

(C) Gujarat ' (D) Karnataka

Foqsd fFE TE A B ?

A FTE (B) diHeTg
(C) THAEH (D) T

Kalpakkam is in which state ?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Gujarat

fqva AT {1 (WTO) %1 qraTerd e 8

(A)  HH A B) fow A

gy e 1) R i

The headquarters of World Trade Organisation is located in
(A) New York (B) Vienna

(C) _ Geneva (D)  New Delhi

25A/12/108I PageS/SQ
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9. T8 Hu W e HRAig 1 rfig 2 ¢

)yx} geid

(D) & o mi

(A) 3T

(C) 3nEE

The headquarters of which association is located in Kathmandu ?
(A)  OPEC (B) SAARC

(C) ASEAN (D)  All of these
10. IS TEfd 3

(a) wurE fafa @ | B) afar frafa &
(C) UIferaw fafa & (D) <t fagta =
OPEC is associated with

(A)  Cotton export (B)  Copper export

(C)  Petroleum export (D)  Sugar export

11. ﬁ%wﬁwﬁmﬁmﬁm.?

(A)  ATIATHR (B) 3w

}Q] CRiCa D) &y

The village settled along a river will come under which patt ?
ern ’
(A)  Rectangular (B)  Radial

(C)  Circular (D) Linear

25A/12/108 T
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12, FeteRea wew § @ guetfaa wretaan anlty aht 2 2

(a) e ard (B)  Asqrerfoon

(C) =& _ D) fireg i

Which of the following regions is the oldest well documented urban

scttlement ?

(A)  Nile Valley (B) Mesopotamia

(C) Hwang Ho Valley (D) Indus Valley
13.  fr=fofea & 9 Rrifan f oo 2 2

W wRT G

(€) 3 e (D) e

Which of the following is the capital of Ethiopia ?

(A) Canberra (B) Lusaka

(C) Addis Ababa- (D)  Nairobi
14,  fAeiefga § @ $9 qiehias TLE ?

(A)  FAT By =

(C) e (D) 3yl

Which of the following is a cultural town ?

(A) Canberra (B)  Mecca

(C) London (D) Osaka
|25A/12/108
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5. uﬂaﬁmw#%@faﬁaﬁm?

(A)  Wo amed A (B) wAWIE g
(€)W T (D) T & i3 7&l
Who developed the Human Development Index ?

(A)  Prof. Amartya Sen (B) Manmohan Singh
(€} Raghuram Rajan (D)  None of them

16. Trffed et # frwent fém i v watfs 2 7

A) e S B wm
/(Cl ST . (D) e -
Which of the following countries has the highest sex-ratio in the
world ?
(A) Latvia ~ (B) France
(C) Japan (D) Qatar
17, ﬁmﬁr&gﬁaaﬂqﬁmmaﬁmma 7
(A)  mn i gfy B) I T "y hady

(C) T ¥ AT e (D) aﬂwﬁfiﬁm.

Which of the following is the hest indicator of development »

(A)  An increase in size
(B)  Simple change in quality
(C)  Positive change in quality

(D) A constancy in sjze

25A/12/108 \
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18.

19.

20.

(323 ]
wER e e frarrem @ e 2 e

(f\/) st ey B) fadtaes fparehermd
(C) g e (D) = frare

'Pastoralism' is related to which economic activity ?
(A)  Primary activity (B) Secondary activity

(C) Tertiary acﬁvity (D) Quaternary activity
frfafga 3 ¥ S Jo0 $4 B ?

A M | (B) W&

© w ) ™
Which of the following is a plantation crop ?
(A)  Wheat - (B) Maize
(C) Rye | (D) Tea
el Y FhE T @R

a) wEH (B) WRA H
) s | }D) ESUIC R

Co-operative farfr'ling has been more successful in
(A) Russia (B) India

(C) Netherlands . (D) Denmark

—1
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01, B @ Rem swlemmen § s 1 @i sfwmd w2 7
(A) AT B) A
) B (D) 3 | B3 T

'

In which of the following economies is production owned
individually ?

(A)  Socialistic (B) Capitalistic

(C} Mixed (D) None of these

22, fycfafiga § § ®19 et a9l H1 HROE ?
/(9‘5 STt S (B)  SIg A
(C) A qguu (D) ¥{-N®
Which of the following is the cause of acid rain ?

(A)  Water pollution (B)  Air pollution

(C)  Noise pollution (D)

23.  wighrE frarse & fafie a2

Land pollution

() ik e # fafim Aged &1 fymrg
(B)  9REEA refad A &fia firard
(C) & T % e 7
(D)  amftor &t = g
25A/12/108 T




Specific feature of regional planning is

(A)  Development of various sectors of cconomy

(B)  Areal differences in transportation network

(C)  Area specific approach ‘of development
{D)  Development of rural areas
24,  Trafafgs Umi 4 o6 e adi ] 7
(A)  YEEA TEHA (B) v MY

(C) R | (D) TETEAel WY
Which of the following diseases is not airborne ?
(A) Respiratory infection (B) Conjunctivitis

(C) Diarrhoea (D) Bronchitis

25. qﬂﬁﬁ?ﬁﬁ?T%EJHET%aéﬁzrqtﬁﬁm%%?
() T _ B W
"o (D)
Paradwip port is sit unated on which river delta 2

(A) Ganga (B) Mahanadi

(C) Kaveri (D) Krishna

(323 ]
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Specific feature of regional planning is
(A)  Development of

Various scctors of cconomy

(B)  Areal differences in transportation network

(C)  Area specific approach of development
(D)  Development of rural areas
24, Ty=fcaliea o 4 = S iR 2
(A)  YEET HHE (B) T WY
) fEr | (D) vaTEAe MY
Which of the following diseases is not airborne ?
(A)  Respiratory infection  (B) Conjﬁnctivitis
(C) Diarrhoea (D) Bronchitis
25. g oo fee TA % e W fRm R 2
a) T | B
"o (D)
Paradwip port is situated on which river delta ?
(A) Ganga (B) Mahanadi

ESA/lQ/wEI - Page 11 / 32
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26, ARG T SR @

A) F@H (B) FicH ™

) g o (D) Y 5 q
Tuticorin port is located in

(A) Kerlala | (B) Karnataka

(C) Tamil Nadu (D) Andhra Pradesh

27, qE-TET YeRiEH HI eI FE 8 7

A) EIR (B) SR

(€) TRE (D) TEEET
Where is the headquarters of East-Central Railway Zone ?
(A)  Hajipur (B) Jabalpur
(C) Gorakhpur (D). Allahabad
28, WEodlodiodio 2
(A)  yaf<d gdeq fawmm gum
ﬁ,/ auf=rd s fqsm g
() wmf=a am fawm Wum

IR LR ey —

25A/12/108 .
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LT.D.P. is

(A) Integrated Tourism Development Programme

(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Programme
(D)  Integrated Transport Development Programme

@ TR F1 gy @

(A)  BEH A (B) MR A
e '
c) fanw | (D) ¥ A Hg TE

Garrison town is associated with
(A) Cantonment (B) Trade

(C) Education (D)  None of these

30. W@aaﬁ%ﬁmﬁﬁﬁmmﬁmﬁ%%?

/ PIRIEES B) fidr

€ D) & Y B

Which of the following economic activities is associated with rural

settlements ?

(A)  Primary (B)  Secondary

(C) Tertiary gD] None of these
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31. WRA H Q&Y W ) Wy i @
(A)  arfior & adi @) Al # e

/LG’] unfiol @ FriE (D) AE | g
/

The main strecam of male migration in India is
(A)  Rural to rural (B) Urban to urban
(C}  Rural to urban (D) Urban to rural
32. 2011 H ST F SHER fFE U7 61 FHEEAT HI G FAIUH 7 7
,(/M afgam W (B) e
(ST (D) W

According to 2011 €ensus, which state has the highest density of
population ?
(A) West Bengal (B) Kerala
(C) Bihar : (D)  Uttar Pradesh
33. faferfa & @ fem Ta § watfus gem § svard R 3§ 2
(A) wHETg (B) HEWI®
©) fawm (D) ¥

Which of the following states receives maximum number of

immigrants ?

(A) Chhattisgarh (B)

Maharashtra
(C) Bihar (D)  Kerala
25A/12/108
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34.

35.

[323]
ﬁﬁfﬁﬁﬁﬂﬁ@aﬁq@ﬁ@ﬂﬂﬂmwmwﬁ%?

(A) wA-8E 7 qund

(B) IR Seraryg

}%’W-Wﬁﬁwm

(D) Wi T& wenfie

Which of the following is not a pull factor of human migration ?
(A) Better living conditions

(B) Favourable climate

(C} Poor living cbnditions

(D} Peace and stability

forrferRaa g -mfera SRl A foRweht ERET U I B 7

(A) oG | (B) 3ieaM 3N Frplar

) o A (D) W

Which of the following union territories has the highest literacy

rate ?
(A)  Chandigarh (B) Andaman and Nicobar
(C) Daman and Diu (D) Lakshadweep

o
m=al10/108 |

Dama 12 | 20
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36. ﬁw%%ﬁﬁﬁ@qmamﬁﬂﬁm%?

(A) U I B) e F@m

€) =Wel I (D) wE-geId UM

Which of the following is a forest-based industry ?

(A)  Paper industry (B) Cement industry

(C) Leather industry (D) Iron and steel industry
37, forva 1 We e W I 3

A) R d B) TWIH

(C) omhis § D) Iail s o

World's most dense rail network is found in

(A) Asia (B) Europe

(C) Africa (D) North America
38, HEEH IGET B

() a qa & (B) HaTQ e 61

(C) e TH FH (D) AT THH

Abadan is an example of

(A) Qi port (B)  Passenger port

(C) Packet port D) Naval port
25A/12/108
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39. AR ISTE B

(A)  d 9 (B) WeRH TR I

€ T T (D) T A FE T
Nagasaki is an example of

~(A)  Oil port (B) . Fishing port

(C) Entrepot port (D) None of these
40. T FE S
(A) e TEETR S SR HEEPR &
(B) -u&ﬁa TETER i Heeiieeh TEETR &
(C) I AT I YASAHT |

/

(D) T & F3 T

Suez canal connects
(A) Indian ocean with Pacific ocean
(B) Pacific ocean with Atlantic ocean

(C) Red sea with Mediterranean sea

(D) None of these

_——F_'-_—_—_
= 100 | Daas 17 | 9
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41.

42,

[323]
R 0 1 R - s e ke T T T S
& foam R 2

(A) ol sreaites qyg Anl

(B) W unt
(C) A wwt
(D) 9 A

Which route is used for trade between North-East United States of

America and Western Europe ?
(A) North A.tlanti'c sea route
(B) Suez route

(C) Panama route

(D) Cape route
Prerfrfiaa & & W1 ariahe e oo 78 & 7
(A) IR (B) Uy

C) AR (D) wfhy

Which of the following is not an inland seapoft ?

(A)  Kolkata (B) Athens

(C) Manchester (D) Memphis

25A/12/108
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(C) FAleH (D) 3TEH

The leading state in Bauxite production is

(A)  Goa (B) Odisha

(C) Karnataka . (D) Assam
44. W@Wﬁ?ﬂ@ﬁﬁﬁmﬁﬂ%?

(A) I (B) itg- 3T

(C)y wrETRe (D) 4l
Gurtllrnahisani mine is associated with which mineral ?
(A) Coal | (B) Iron-ore
(C) Bauxite - (D) Copper

45 T i @ N e @fe @ 2
(A) TR HASh (B) @Ml

(C) T (D) ¥ 4 &t

Which of the following is a metallic mineral ?

(A) Iron ore ) (B) Copper
(C) Manganese (D)  All of these
25A/12/108 Page 19 / 32



46.

47.

48.

1323
VgTad! 1 gy R
(A) g S8 FE 8 (3) eiR-3eTa I H
©)  ¥Q-Tarm e (D) S I A
Bhadravati is associated with
(A)  Cotton textile industry
(B) Iron and steel industry
(C)  Petro-chemical industry
(D)  Jute industry
g R o= A R 7
W W (B T
(€ T | (D) uf¥am st

Trombay is in which state ?

(A) Maharashtra ~ (B) Gujarat

(C) Goa (D) West Bengal
AT T g 3 o

(&) fufdm g (B) et &g &

(C) wreafh g 4 D) T A 5 7

Bokaro stee] centre is in

(A)  Mixed sector (B)

Private sector

€) .
D) N

Public sector

one of th
25A/12/108 =S¢
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b ?%’Hwﬁmmmmmem%? o
(A) = A —
f”/ R D) SFEHETTE
Which city is called Manchester of South India ?
(A} Chennai (B) Sholapur
(C) Coimbatore (D) Ahmedabad
50. 2011 1 SHIA % AR W@ % fe T 8 O FEC F A
gaifs o1 ?
() TP B) ¥
(C) Wy e
Which state had the highest percentage of urban population in
India according to 2011 Ceﬁsus ?
(o) Tamil Nadu (B) Kerala
(C) Maharashtra (D) Goa
5y, fred AP ARTAE ?
(a) FR : (B) T
(©) wad : /ﬂ?ﬂ/ qeAl
Which of the following is not a mining town ?
(A) Jharia (B) Raniganj
(€) Khetri | (D) Patna
(25A/12/108 "
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Ugds TF IR
(A) ST et (3)  HeaehleAT IR A
(C) HATER IR H (D) 3 @ Hrd A

Rohtak is an example of

(A)  Ancient town (B) Medieval town

(C) Satellite town (D) None of these |
Ft Tl B T e 7 7

® @ B) . TR

€) TR - (D)  wigen

Which of the following towns is not situated iﬁ Gujarat ?
(A) Surat (B) Nasik
(C) Rajkot | (D) Kandla

mﬁm%m%@aﬁﬁ_aﬁwwﬁ%mmqﬁ
27

(A)  HEEAT GH 400 e SRy v ey
(B) Tmutersnt, fim snfe & Gl

(C) mmsaoowﬁsﬁam

/5/75%1}31mmmmﬁmmﬁﬁmm

[25A/12/108 | T



the census of India ?

(A) Population density of 400 persons per sq.km

(B)  Presence of municipality, corporation etc.

(C)  Population size of more than 5000 persons

(D)  More than 75% of population engaged in primary sector

5. fr= o @ 9 yiy-feheon ¥ soer @ 2
(A)  ICERA (B) W A
(C) <1 SHE | D) T | &l
WhiCi’l of the following is responsible for land degradation ?
(A)  Soil alkalinity " (B) Soil erosion
(C) Waterlogging (D) All of these
56. AW e H IOl T @
() nfsm (B) T
(C) HEWE (D) e
The leading state in Jowar production is
(A) Odisha (B) Goa

(C) Maharash'tra (D) Meghalaya

[hsas12/108 | Page 23 / 32
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57. fmfafen & & o 9 woer 2 7
A) =X (B) i
2 )@ (B) (D) ¥ 4 #1 7
Which of the following is a beverage crop ?
(A)  Tea (B) Coffee
(C)  Both (A) and (B (D)  None of these

58. fowqa =TI IS Y T 6wt
(A) o i B whwd
© Y=A | (D) 3TH fdT 3 |
Extcns‘ive commercial grain farming is not practised in

(A) Pampas | | (B) Steppes

(C)  Prairies (D) Amazon basin

59, ﬁq%%aﬁﬁaﬂqmﬁsmaﬁﬁawﬁa%?
(A) ufEza (B) SR

(€ @ard (D) Ay Pyt

Which of the following is associated with quinary activities ?

(A)  Transport (B)  Communication

(C)  Services (D) Policy formation

(2547127108
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O T PR B ey 3
(})/ ST e @ B)  fgdbrs fpm 1
(C) s fr M) Fazt® frar A
Red collar is associated with
(A)  Primary activity (B)  Secondary activity
(C)  Tertiary activity (D)  Quaternary activity
61. Frfofed & & o Wew da1s } wmafirg 2 7
(A)  FHE - (B) e
(© T (D) ¥ & &
Which of the following is associated with professional services ?
(A)  Advocate (B) Washerman
(C) Barber. (D)  All of them
62. fmafafgd & @ #19 9qd Yo Sharmomdl @ gafla & 7
@) wors fafwtor (B)  FEH! T HZ
(€) wmT 3R g i i fervarferenera foeres
Which of the following is relat;ed to quaternary activities ?
(A)  Mantfacturing computer |
(B)  Printing books
(C)  Paper and pulp production
(D)  University teacher
[25A/12/108
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el frseni 3 fruit e wia s ik R s g
(A) Wl framan

B) fedfias Baiwanm

(C) =g frareemy
(D) =W feramehery

In which of the following activities are high levels of INnovatipng

included ?

(A)  Primary activities

(B)  Secondary activities
(C)  Quaternary activities

(D) Quinary activities

_ Portant jn the concept of
determinism ?

(A)  Natural component (B) . ;
(C)  Both (A) and (B) (D) N

One
25A/12/108 e
' 1
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" WWWWWWHW% ?
M B e
(€)= (D) gl

Who is called the founder of Human Geography ?

(A) Ratzel

(B) Ritter
(C)  Blache | (D) Humboldt
© 66, e el wE wpiven % e dr @ el 2 7
(A) TR i (B) TSHIT et
(C) T e (D) 3 g
Geography of Tourism is related 'to which sub-field of Human
Geography ? |
(A)  Social Geography (B)  Political Geography
(C)  Urban Geography (D) Economic Geography
67. Frefen dl i & B A S R 0
(A) IR (B) fogaaig wew
(© aScioE P (D) yeta wew
Wthh of the following regions is densely populated ?
(A) Wesfern Europe (B) Equatorial region
(€) .Dcsert region (D)  Polar region

25A/12/108 Page 27 / 32




68.

69.

70.

Ry SraEn 1 frd wfr o & Frara w2 7

(A) 30 gfaw@ (B) 20 e
(C) 50 Wi /(Df 60 e
What percentage of world's population lives in Asia ?
(A) 30 per cent (B) 20 per cent
(C) 50 per cent (D) 60 per cent
frfefad § & # 57 ATRw #1 ey SR T8 8 7
(A) W (B) Rufres glaurd
S (}p) qgmaTEt
Which of the following is not a push factor of human migration ?
A) Water shortage (B)  Educational facilities
(C)  Unemployment (D) Epidemijcs
meﬁmmﬁmﬁﬂaﬁﬁﬁﬁ
27
s o o
©) T D) Y g -
Both bi |
transiti: t::;iath ralcs are }__ugh In which stage of demographic
(A) Firstl - Secons
(C)  Third

o
sa/iaios] T Noneof g,
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U8 - ¥ / SECTION B

BRG]
L T3 / Short Answer Type Questions

pvT WG 1/ 20 7Y 3wy § . | .
‘23;5?%37‘&?@?.- 'Hlomd"mé’lmﬁﬁf(’

; | 10 x2=20
iQuestzon N?S' 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks.

10 x2=20

1. S fameamt = 39 fferu |

Mention two quaternary activities.
2. AN vy w2 g o

What is Orient express ?
3. FRETHAE R ?

What is agricultural density ?
4, . s § ficee % FRo Fawe |

Give two reasons for declining child sex ratiol in India.
5. afedfd % YR W G H afigd wW|

Classify ports on the basis of location. |
6. G v v aferdl F d s we AR |

Differentiate between compact and dispersed settlements.
7. 37T WIS I R HE 8 7

What is the importance of age structure ?
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10.

11.

12.

13,

14,

15.

16.

[323
Wﬁm%wwwﬁmsa@ﬁ|

Mention four approaches to Human Development.

2 e oy A a9 g

What do you mean by cultivable waste land ?

WRd & 91 YW yififes qnﬁ & T ford |

Write the names of four main religious cities of India.
w1t % i qun S e § s we 5 )

Distinguish between renewable and non-renewable resources of

energy.

@ JgEW % fhd =R ol & IBE R |
Mention any four sources of noise pollution.
Stem fAates F w0 @ 7

What is subsistence agriculture ?

WHeT & MUK o Ih R g

Classify industries on the basis of ownership.
@t wpfs emm W fupf ferfigu |

Write a note on Golden Quadrilatera] Highway.

‘L—ﬁrﬁﬁwmﬁamwwaﬁ%?

What do you mean by land degradation ?



17.

18.

19.

20.

(323]
ﬁmwéw%ﬁamm%|

Differentiate between determinism and possibilism.

ST & oo B sl ORI = i Fer % T e |

Write the names of four geographical factors influencing the

distribution of population.

WIE & R Hfia Searesh Teal % am faRag

Write the names of four manganese producing states of India.

TSI & =R Yq@ gt 99 I Hgi & a1 ford |

Write the names of four important centres of cotton textile industry

of Gujarat.

e I wo / Long Answer Type Questions

gvT @ear 21 @ 26 3 s § 1 et i v & I 1 nRw ¥ fw

5 o fraffea & 1

3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions.
Each question carries 5 marks. 3x5=15

21.

22.

—==712/108

fovg 4 Faen & famw & ywfen seae dmfas SR w1 9uln
HIT |

Describe the geographical factors influencing the distribution of

population in the world.
TeTaTEl TYER 3R ST G3aeE 3 3 Wy iR |

Differentiate between nomadic herding and commercial livestock

rearing.

Paoca 71 1 A~
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problems of urban settlements in developing countrieg

AN
MDiscuss the

24 wra A Ag F I

25w & arwiqa aal @ fade A |
Discuss the non-conventional sources of energy.
26. R %1 qEfE TaTge 3 Prefelaa Ht weifa Hifv
(a)  WRIEM
(b) I
(c) W&
(d) U=

(e) WEFR |

Draw a map of India and show the following :

(a) Paradwip

(b) Agra
(€} Patna
(d) Ranchi

() Mahanadi

e
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